AMBEERSIT XS

TFIVT LA 20165282980 KRE
oA E=:D] XEH 2016ZE N | 201557 #E | 20155 F [ 20158F| &t
AKX E&HE |[EBRXE 300 300 225 825
2|4 EBE EERXZERKXE 400 20 300 720
3|HIMA FE BEAFXE 100 6 80 150 336
4|KfE FED |fEREXE 200 40 40 280
5|t BHE AR FRKE 40 150 80 270
50118 #kE EIBGEREXE 40 150 80 270
RS BEEABXE 100 80 40 220
8|118)Il #thF |[FERFERXE 40 40 80 160
8ligeg Y& fBEKXE 40 20 20 80 160
1o0(lltE & MEEKXE 100 20 20 140
11[FAH UMY  |FEEFRERXE 100 20 120
12| k% BE BEEABXE 40 2 20 40 102
13| HA BN EIREEREXE 40 20 40 100
14| LRI B |[EBEEXE 11 40 40 91
15|98 tiz AR FEREAE 2 40 40 82
16| RiZE HE EIBGEREXE 40 20 20 80
174 ZBx% EIGEREXE 6 40 20 66
18|+ dH4h |EREXFE 2 20 40 62
18|ZH =% faff K= 2 40 20 62
20AxH #HE |[BEEAEXE 6 20 20 46
20))114 = AR X ERKRE 6 20 20 46
20HE &k AR X ERKRE 6 20 20 46
23|ftA EFE AN 2 20 20 42
23|FH FEH | EBEREXE 40 2 42
RIS AR X ERKRE 20 20 40
26|Hp XBE AR X ERKRE 11 20 2 33
27|28 Fi+ BEREXZE 11 20 31
28| A FIFE RIBEREXE 6 2 20 28
29|HIH A EEXRZEKXE 2 20 22
29|hH g AR X ERKRE 2 20 22
29\ 5H% FY A PN 2 20 22
R2|BEXR E=F EEXE 20 20
33[AIL = BEREXE 6 0 6
MFLE H BEREXZE 6 0 6
34[/hER BESE BEAEXRE 2 2 2 6
4R X’ N PN o 1 2 2 5
7N UhDd  IREEZEERIXE 2 2 4
37|k EEt JLIN 3T K 2 2 4
3N|EE KX EEXRZEKXE 2 0 2 4
7|EE #ME EAZEXE 2 2 4
S AR XFRAE 2 0 2 4
&R F= AR XFRAE 2 2 4
37IUT EiE A PN 2 0 2 4
37| BE fREHEEKXE 2 0 2 4




45|FH BF M ILKRE 1 0 2 3
45|13 InE M HILKRE 1 2 3
45 %% BEXE fEEBEKE 1 0 2 3
48|k H 1t TEZEEHXE 2 2
48|[HE ¥ hEEERAKXE 2 2
48)1100 &8 TEZEEHXE 2 2
4858 K M ILKRE 0 2 2
48|35 HHY | RIBGEREKE 2 0 2
48|E5H #REE |[RBEREKXE 2 0 2
48|EH BE i XE 2 2
48|3 & KR KZE 2 0 2
48| TE B BBk KE 2 2
57| % BX M HILKRE 1 0 1
57|HHK XZ M HILKRE 1 0 1
57|E’H BkHF] |[REAKFE 1 0 1
57|t hZF R KE 1 0 1
57|lUE 5 il PN 1 0 1
57|15 H B fEEBEKE 1 0 1
571|EE F®M BB KE 1 0 1




